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1 No credit constraints

Consider an economy with a continuum of families with mass 1. Every family consists of

a single person living for one period, leaving one o¤spring (so no population change). The

agent in family i living in period t has initial wealth ai;t. Using this capital and supplying

one unit of labour, she earns yi;t, which she spends on consumption ci;t and bequests bi;t for

the next generation according to the utility function

U = c1�si;t b
s
i;t;

yielding bi;t = syi;t. Hence

ai;t+1 = bi;t = syi;t:

The distribution of wealth at time t is given by the cummulative distribution function Gt (�),

where Gt (w) is the fraction with income below w. Average wealth is then

wt =

Z
w dGt (w) :

Each agent produces with a Cobb-Douglas technology. When she supplies 1 uint of labour

and has access to k units of capital, she produces

y = Ak�:

The rental rate of capital is rt (=1 plus the interest rate). An agent then maximizes

max
ki;t

Ak�i;t � rtki;t + rtai;t;
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which yields

�Ak��1i;t = rt ) ki;t =

�
�A

rt

� 1
1��

:

Notie that this is the same for all agents, so for all i, ki;t = kt. The interest rate rt is chosen

so markets clear:

kt =

Z
w dGt (w) = wt:

Hence total production is

y�t =

Z
yi;t =

Z
Ak�i;t = A (wt)

� ;

which inly depends on average income wt and not on distribution. So in the standard model

with perfect credit markets, distribution has no e¤ect.

2 Credit constraints (Piketty REStud 1997)

Consider now a model without credit markets. The only way to save is by investing in own

capital. We then get that

yi;t = A (ki;t)
� = A (ai;t)

�

and total production is

yyt =

Z
Aa� dGt (a)

As y (a) = Aa� is a concave function, it follows from Jensen�s inequality thatZ
Aa� dGt (a) < A

�Z
a dG (�)

��
) yyt < y

�
t ;

so production si lower, and more so the more spread there is in Gt. Henc edistribution

matters

3 Amodel with occupational choice (Ghatak and Jiang

2002)

Still no credit markets. We now have three classes:

Subsistence Wage w
¯
. Income ySi;t =w¯

+rai;t
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Worker Wage wt, works for entrepreneur. Income yWi;t = wt + rai;t

Entrepreneur Invest I, hire one worker. Income yEi;t = q � wt + r (ai;t � I)

Industrialization e¢ cient: q � rI > 2w.

Only agents with ai;t � I can become entrepreneurs. Hence Gt (I) cannot become entre-

preneurs.

At wage �w, indi¤erent between worker and entrepreneur:

�w = q � �w � rI ) �w =
q � rI
2

Labour supply to industry:8>>>>>>>>><>>>>>>>>>:

0 if wt < w¯
[0; Gt (I)] if wt = w¯
Gt (I) if w

¯
< wt < �w

[Gt (I) ; 1] if �w = wt

1 if �w < wt

Labour demand from industry:8>>><>>>:
1�Gt (I) if wt < �w

[0; 1�Gt (I)] if wt = �w

0 if wt > �w

Only two cases, wt =w¯
or wt = �w. The �rst occurs i¤Gt (I) > 1=2. Then

ai;t+1 =

8>>><>>>:
= s [rai;t + w¯

] ai;t < I wt = w¯
= s [r (ai;t � I) + q � w¯ ] ai;t > I wt = w¯
= s [rai;t + �w] 8ai;t wt = �w

:

Assume sr < 1: Wealth doesn�t grow into heaven.

Stationary wealth distributions (ai;t+1 = ai;t):

aS =
sw
¯

1� sr
aW (w

¯
) =

sw
¯

1� sr

aW ( �w) =
s �w

1� sr =
s (q � rI)
2 (1� sr)

aE (w
¯
) =

s (q � rI � w
¯
)

1� sr

aE ( �w) =
s (q � rI)
2 (1� sr)
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Case 1 aE (w
¯
) < I , s (q � w

¯
) < I. Everybody in subsistence in the long run.

Case 2 aE ( �w) < I � aE (w
¯
) , sq

2�sr < I < s (q � w
¯
). If initially Gt (I) > 1=2, wage

always w
¯
, otherwise start in �w, but after a while fewer entrepreneurs and �nally w

¯
reached.

Case 3 aW ( �w) < I � aW (w
¯
) , sw

¯
1�sr < I �

sq
2�sr . If initially Gt (I) > 1=2, wage starts at

w
¯
and satys there forever. If initially Gt (I) < 1=2, wage starts at �w and stays there.

Case 4 I � aW (w
¯
) , I � sw

¯
1�sr . In all cases the economy converges to the high wage

equilibrium.
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